CASBEELBIZH+HERIEHDRERERITBE

KT ROZERICIRRRERG OBMEEIASL TS,

EBITRRFPURMESGPHRHTELS

CASBEE-IL & 20144 AR

B2 E I B EXTEREE I
W1, NhECREREX R IDHE
1.1 BYoEammins
@roh) XEEBEEERCERLTGIZED
ETIVEMAICLOEERREY ERRE 2| BERIE 21| EBHE 2|9+ Bt AE
40 1.00 |wi|zHiL¥— 1| YO & TN
INR 40 0.03
1.2 BAIRILF—OFHA
(=E7) XEEEEFERICEHL TS 3.0 100 |wi|zrox— 2| & sk an+ —FIH
INETH| 3.0 0.06
1.3 FRIEVATLODEZIEL
[EEDID) XEEBEFZEZICEH LTSN, O 4.0 100 |wi|zxixe— 3l 27 Lo SH=EE
ETIVEYEICKDETERRE XY
INET[ 4.0 0.29
14 FREATLDONENER
(=E7S) KEEFEEFERICREH LTSN 3.0 050 |w|zHRix— dmm=mEm s1|Ezmyy
2.0 050 [wi|zH#rx— 4|3 EpER 4.2|5BAEE K
INET| 25 0.12
15 BR-<TITILRE
(FAh) XEEFREBRICEBL TSI O 4.0 010 [w|&m-<7u7r | 1|xames 1.1gk
FERXMIEERL ., AABRLYEL/A—T—2av% | 30 011 [|w|am-~<7u7r | 1|xames 12|FAFIA-HHKERA | 1|[FARAL AT LEADEE
RALTLS 3.0 0.05 |[wr|&E-=FU7IL | 1|KEFERE 1.2|FEKFI A - HKEFA 2| KBRS AT LEADEE
3.0 0.08 |wre|&E-=TUTIL | 2kEsMEEoEREEE |2.1|HEHEREOHE
3.0 017 |Re|&E-=FUTIL | 2|kBEHEROEREEE |2.2| B2 SR IAZ DR
3.0 017 |R|&E-<FUTIL | 2|kBEHEROERBEIE |2.3BEBIZETEUS I LHOER
BiR-ITUTIL 2|EBEMEROERBAEIR | 2.4 |Brrsusics o4 oLHOERA
BiE-RTUTI 2| EBmaEMEROEABHIE |2.5|HGETaumms SEHSNIAM
50 017 |[|Re|&EE-<TUTIL | 2|EEstEROERELEIR |2.6 |84 OBRMAEER E~ORMAA
INET| 34 0.35
1.6 479 49)LCO28E 3
(@Ah)  XEEBREBRISEHL TSN 3.2 1.00 |wro|zsmsrmmis 1| BRI~ DERE
FATH A ILCO2HHED G EFER KLY
INR 3.2 0.15
1. #hBRGR IR 1 X 3% 1 O HE 6 0D 5T 34 0.71
W2 [E—r7ASURXRIDHEE
2.1 BRERIEOMEE
@rvh) XEEBEEMRCEBLTIZEN, 30 0.49 |a3|=sms@mm) | 1|EmEBoRreLA®
3.0 0.24 |Q3|=45MEEE (BUhR) | 3|t FAZTA~OBEE|3.2| Bt RERIRE D@
2.0 0.27 |wro|Butstinss 2|t IR A~ DEE 22| BRBEELORE
INET[ 2.7 0.97
2.2 RBEE TN
(Axvh) XEBRFREMRICEHLTIZL, 5.0 1.00 [wo|supsims J|MIBEADER |23\ L IS~OAHNE | 3|sBARME
i‘;ﬂ\liéﬂﬁlﬁll:.%ﬁﬁi%bfﬁ‘iséf:&‘)\ T RS RO HERTET
INET| 5.0 0.03
2.TE=FP A7V 58 1 D HE L D FE A 28 0.20
W3. [REMILIRIDHE
3.1 MtAMEDRELE
@ATF) XEEBEEEZERCEBL TS, 4.0 0.18 |az2[p—Extmse 2|t At - {5 A 21| E-RE 1|t
KE.FEZEELT, &iFstEZTo1= 3.0 027 |o2[r—extze |t At - 1S At 21| E R E 2| - HlIR A
3.0 0.11 |a2|y—ERits: 2|t AT - 1S 4B 2.2| 3R & - EBHF OOt FR4E 3% 1| SRR+ R Ot A4 31
2.0 0.11 [Q2]y—ERMHEE 2|t Rt - S4B 2.2| R & - ER 4 DOt FAEE 3% 2|5 BRI L P M DRI L BRI
3.0 0.05 |Q2|¥—ERMEE 2|t FtE - 15 8EM 22|88 ERM DT A ESK 3|xErsl L FHOESHBENR
3.0 0.05 |az|p—Exise 2|ifit Pt - {5 HE M 2.2|E8 - R DT FA 4 50 4| ZRBES VL OEH LB
3.0 0.11 |q2|y—ExitAEE 2| R - 1S 4E 22|53 5 ED4 DT A EE %K 5|25 - KB E O EH B ERR
1.0 0.11 [Q2|¥—ERMEE 2| - 1S REM 22| R & - ER 4 DTt FAE 3% 6| T ERBHBOEFLERE
INET| 2.9 0.58
32 FZIEDEHMN
(FAVE) KFFHOFELRRICEBLIRRZEAL TSI | 3 0.20 |oz2|4—E=tse 3|t - EETE 33|BmoESE 1| ZRERE DB
+ B HEAR—RADEPS, PSEHERLTINS 40 0.20 [a2|v—Exise 3|ttt - EEE 33|BmoELH 2|k B DELH
3.0 0.10 |o2|s—E=xitae 3| st - B 33|BEOEHH | ESEBDOES M
5.0 010 |oz2[s—Eczmse 3| st - B 33|BEOEHH 4| EIERBOELH M
3.0 020 |oz2[p—Eztmse 3|t - B 33|BEOEHH 5|sR BRSO E
3.0 0.20 [|o2[p—EzmaE 3| st - B 33|BiE =S 6|\ T VT RR—ZDRER
INET| 34 0.42
ITRFMIERIDHENDFH S (LFE2IEE) | 31 0.09

BEREB DT (EEIEE)

3.3




